1:2,500

| — IE74—4

|- IE T4- 4

[E74-1 |E74-2 [E75-1
*
E 5 8
(Mg
IE75-3
N N
AT
= =
iC =1

o 37,2 = A &
T A B Y

= 25.62 koo# &

2 A ROER
=558 © 2.3 Erbmimes
N\ S

e AARES
® 3 >mEs -

= 25.73 Ok =)

. 12,3 IzE%gb&;\
s N 2 B =
Fom S . 158 RILAEIC LS

A 25.62 AR
T A B i A &
# oW A cm RTE-aTH
w2 5o P
I - oo B P
# OE B 1 = "
HEHEEE 0 2 a8 0 ®
% & i i 1%
BB B 2 B & W
B RE R ¢ 705 >
BRI -~ B B
Fi #t NV~ i m]
= B Q TR YTH (REER)
FURL B 2 A IR YTA (SEEA)
Es 1 o A RO
WHE - REE 4 g = O#
NeE - AR O 5 v b
ENE RN i e S
® &AM o=t & %
] [ & TR B
i T A 5} S
WO A fod 17 )
= & © T =
X # E m ok fi 8 8 A
I 15 R oH B B
x B M Veze) ABHRERE
B - ks = KO - EED
HAYUYRZ VR b BR R
Bz i A =
R O#E B * @ % &
E OB — B K B @
# & @ & i
BRh 0 B _oEmG) BEmt 0 s

- N = FS5ybk—ni
% E - SR BB
= ?J—L % H B
it & —{TT}— BEOTEVE
% WS 1B = BEO&%#E
EROTEE =—— RUEEZH
i PN ——H——— % & &
N < N X & R
S-S R T £ =B
~ 0 ———— # # R
» &

. m 7t
wER R BEBHORR
LEEDNHFR — —— — XFTE-TER
B - EREOKR -— -— W B =

1 o [ L
H 2 E B R
I o (@)
v o] 200 1 1
18 Bt
o o B A 4 0
* e 5| n v v
Lz EA . EO T
¢ e I S I
|7 Boow Lo
s =T Tl L #
# ™ #

L5555 | BEER
SRS AIL N MIVRIE

<
o0
T
+57.5 »% +37.5
100,
gﬁg
& & BT AL R
&
o
H
‘, : S S
126.7 B
)
+37.0 F— ‘i =
s
I
IAN -
*A e
) \// I
[T B ORI
T
7, &jd_ .
S EH 55 %
% 111 \\/
+36.5 — +36.5
+36.0 +36.0
O Ig] (@] 9] O
E o > o S
+ + + + +
PAN N: =3 PN = = A N E=Ra _ = £ = A= = N
TH 3FANE VommEnAm Y 1:2.500 [COREMEE. BLhBREOHSEZITHLOOTHS, RE A N /] il
) el B 4 = = A e =
50 100 200 300 400 500m BEES) 7 3 AR B 58 5l EREE o )X R T

HERCRRL THDERMEEFFO A — MILEA
FHE A ERES T AR ICHE

FERIZ0. 5+ 0O A — LR

B OEREIRFTEDFEBH
EEROREMRE2A— ML

|- IE 74— 4



